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HMEREE (FREAR) MESEE 12- 3
No. % L7 HH i E AR I B A O B
R gy
XAEAE~BARERM )
o -
A/m
KBRS TIEHELY A/ %18 A
By TEELE 7.1 m  x 0.015 % 1 0.11
INY IR
" EEEF 71 m  x 0.01 * 1 0.07
HBRL TEELE 5.2 wm % 0.016 * 1 0.08
INY IR
" EEEF 5.2 wm % 0.0067 * 1 0.03
INE 0.29 0.29 1 A
thETE
S ESS HMETEHELY A/ #1E A
FhFHh % TEELE 0.7 m % 0.2 * 1 0.14
INEE 0.14 0.14 1 A
BEHIE
A/m
KEEE HEIEHELY A/ R 15 A
MM BHT 0.2 « x 213 1 0.43
" ZEELE 0.2 « x 0.41 % 1 0.08
A/m
IKER A5 7K FE2. Tm SHmIEHE LY INZA: #1E A
MM ET  BHT 0.1 « x 213 1 0. 21
" EEEES 0.1 « % 0.41 x 1 0. 04
0.76 0.76 1 A
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No. % L IEH it &5 A I Bt & B B
s gy L
XAEAE~AREM )
avyl)—rIE
KERE avoy—rIEHBLY A/mM i) A
ByLavy)—rT
& EZE 0.3 m * 0.13 * 1 0.04
EhaLoU—F  EEEZE 2.2 w 0.13 % 1 0.29
IKER A5 /K FE2. 1m
RIAD LY 1) — b EHELE 0.4 w % 0.13 * 1 0.05
INET 0.38 0.38 1 A
BRpI=E
KEEE BRIEHELY A/m 118 A
LEAWREY BRI 18.2 w  * 0.13 * 1 2.37
5 1 L EHHIEBIE BIE LA 18.2 m  * 0.025 % 1 0. 46
IKER A5 /K FE2. 1m
EEAREE BRI 6.0 i * 0.13 * 1 0.78
51 L EHIEBIE BE L 6.0 m  * 0.025 * 1 0.15
INEF 3.76 3.76 4 A
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No. 4 1 IEH it 5 A N F & OE BN
YL

XAEAE~AREM 1)

EEIE

KEERE EEIZH=LY A/m *E A

arvyU—hrEHL 6.9 m  x 0.025 % 1 0.17

IKER 15K FE2. 1m
arvyU—hrEHL 15 w % 0.025 % 1 0.04
et 0. 21 0.21 1 A




